


ab=cd

=

Q

ORIENTAL 5
+SD

2 /21



ORIENTAL 5
+SD

o

3/21







5/21



ORIENTAL 5
+SD

ww s ¥

ww 071 x9
[

ww 0£Xg
[

6 /21



7 /21







9 /21



a——

ww ot Xy

Yd(tdﬁiﬁddtvﬁvft‘vﬁvffdd{(

ORIENTAL 5

+SD

10 /21



ORIENTAL 5
+SD

11 /21

#32

=
|

3%




7 !..\!...iiﬂ\ﬂﬂm

i,
‘—’!—’—‘!ﬂﬂﬂ‘ﬂ!’

dﬁﬂ%ﬁ@%ﬁ?

NG

ORIENTAL 5

+SD

a——

ww O X{y

Yd’dtiv{ggdgd?

12 /21



\

N

““‘

et

Y

ARl

ORIENTAL 5

+SD

13 /21

ww 0/Xg
[

p=



VA=V, WL =TT T T 777777

/ |\
\
\
L
A / \ :
|\ Fespirat— 7
,,,, \ v

\ \ ,/ /.

RN

VLT

,.J\rﬁ—/—ii?—g—/—?

\\\

TN

: 22D
. 22,

1!

3 (RANRARN
/O@m\@%@%@m\m\ v

ORIENTAL 5

+SD

@e—

vEE 0tLx9
P

14 /21




4x50 mm
6x140 mm

/ A____MMW

Al asEs Cs R

==
Z

) m———

Www 0719
[

e )

ww g & rEE 05xy
e 4

ww ¢ & L ww (0128374
S y

ORIENTAL 5

+SD
15 /21




v vy

\ Y\ R i,
/,, /// \ \ / y
/ , \ VN / \

4\ \

LT EERTRTTE T .

ORIENTAL 5
16 /21

+SD

ww 09xy

Yd’dﬁdv{ggdgd?



\ W /\ L LI T T T 77

ARRRRRARRAY A\

iww\\,\w,,w\,\\,\\,\\,\\,,\\,, \ / A A\

, —
m N ‘v
\ q = —
,,, \ ]
, I

=
¢

|
I

¢ |
T o~

| G — —
>
\ WL L
A\ S rr e v v

(o))
—
=

¢ €
i c
i3
17 /21



18 /21



"
7

o §

—
T

i

19 /21



20 /21



21 /21



